Faktorisierungssatz Losungen—+ Priifungsvorbereitung

Aufgabe 1

(a) (z—6)(x—8)=a?—8r — 6z +48 =2 — 140 +48 =0

() (z=T)(z+7)=2*-49=0

(d) (z—(1+V3))(z— (1-V3))
=(z—1-V3)(z—1+V3)
= (= 1) = V3)((z = 1)+ V3)

=1 -3=2"-224+1-3=2>-20-2=0
Aufgabe 2

@ ale =3~ =alet ~ do o+ ) =aet - o+ D
Wiihle a = kgV(12,8) = 24:

247% — 38x + 15 =10

(b) a(z+2)(z—2) =a(a? — 2+ 20— 3) =a(a® + 32— 2)
Waihle a = kgV(4,2) = 4:

422 + 52 —6=10

Aufgabe 3

(a) x* — 2z — 5700
D=b—4ac=1-4-1-5700 =1+ 22800 = 22801 = 1512
 —b+VvD 1+151

76
i % 2
—b—+vD 1-151
To = = = —75
2a 2

22 —x — 5700 = (z — 76)(x + 75)



(b) 2+ —1

D=V —4dac=1-4-1-(-1)=14+4=5

VD —1+V5
L V"
—b—+vD —1-+/5
x2: e
2a 2

> ~14++5 ~1-+5

R =
1 V5 1. V5
:(9”*5‘7) (“f?)

Aufgabe 4

(a) 622 +2—2=0

D=0 —4dac=1—4-6-(—2) =49

_ —b+vVD -147 6 1
= T T 12 T 1272
_—b-VD -1-7 -8 2
T, T T 12 T 12 3

6x2+m—2:6(x—%)(:p—1—§)

(b) —42? 4+ 11z 4+45=0
D=0 —4ac=121 —4-(—4) - 45 = 841 = 292

_ —b+VvD —11429 18 9

2%, 8 -8 4

X

_ —b—VD —11-29 —40

2= T, 3 5 =°

—Ax? 4+ 11z + 45 = —4(ZL‘ + %) (:E — 5)

Aufgabe 5

?+5r—14 (z+7)(z—-2) x+7
2 —Tr+10 (r—-5)(z—2) x-5

()



(b)

622 — 11z + 3

8x2 —6x—9

Zihler: 622 — 11z +3=0: D =121 —4-6-3 = 49
147 3 11-7 1

=" ~9MmT T T3

Nenner: 822 — 62 —9=0; D =36 —4-8-(—9) =324 =182
6418 3 6-18 3

T L T




